

ON CERTAIN TYPE OF SUMMATION METHOD

G. Shailaja, Research Scholar, Postgraduate and Research Department of Mathematics
 Dwaraka Doss Goverdhan Doss Vaishnav College, Arumbakkam, Chennai – 600 106
 Email: shailaja.gurumurthy@gmail.com

Dr. R. Sivaraman Associate Professor, Postgraduate and Research Department of Mathematics
 Dwaraka Doss Goverdhan Doss Vaishnav College, Arumbakkam, Chennai – 600 106
 Email: rsivaraman1729@yahoo.co.in

Abstract

Summability Theory which began as an independent study few centuries ago, is a part of Number Theory and Mathematical Analysis. It is an alternative formulation of obtaining convergence of an infinite series which is divergent in the conventional sense. In this paper, we consider infinite sum of the k^{th} power of first n natural numbers which is a divergent series and when trying to express in terms of a particular integral taken over bounded interval, we obtain nice results. We will prove such results in this paper. We have provided the verification of such results.

Keywords: Sum of k^{th} Powers, Divergent Series, Bounded Interval, Riemann Integral.

1. Introduction

The notion of convergence was instrumental to the development of various summability methods. Later on, the concept of the absolute summability was developed from the notion of absolute convergence. There are various methods due to Abel, Borel, Cesaro, Euler, Norlund, Riemann, Riesz and many more. During early years of 20th century, various methods of associating sums with series which are neither convergent nor properly divergent were developed as generalization of classical concepts of convergence. These methods called "summability methods" have been found incredibly useful in the study of divergent series. Pioneer researchers such as Holder, Cesaro, Haudesoff, Borel did spectacular work so that summability theory became independently well established and considered as part of modern mathematical analysis. In this paper, we will develop one such summability method and derive nice results depending upon it.

2. Notations and Definitions

$$1. S_k(n) = \sum_{n=1}^{\infty} n^k = 1^k + 2^k + 3^k + 4^k + \dots \quad (1)$$

$S_k(n)$ is the sum of the k^{th} powers of positive integers.

$$2. t_k(m) = \sum_{n=1}^m n^k = 1^k + 2^k + 3^k + 4^k + \dots + m^k \quad (2)$$

$t_k(m)$ is the m^{th} partial sum of $S_k(n)$.

Definition

For $\alpha > 0$ we define

$$S_{k,\alpha}(n) = \int_{m=a}^b t_k(m) dm \quad (3)$$

where $[a, b]$ is any interval in R .

If the integral in RHS of (3) exists, then we say that $S_{k,\alpha}(n)$ is Summable.

3. Theorem 1

If k is an even positive integer, and if $S_{k,\alpha}(n) = \int_{m=-\alpha}^{\alpha} t_k(m) dm$ then $S_{k,\alpha}(n) = \frac{\alpha^{k+1}}{k+1}$ (4), where $\alpha > 0$ is a finite real number.

Proof:

From the definition,

$$S_{k,\alpha}(n) = \int_{-\alpha}^{\alpha} t_k(m) dm$$

By Faulhaber's Formula (see [1]) which states that

$$1^k + 2^k + \dots + m^k = \frac{m^{k+1}}{k+1} + \frac{m^k}{2} + k \frac{m^{k-1}}{12} + C_{k-3}m^{k-3} + C_{k-5}m^{k-5} + \dots + C_1m \quad (5)$$

where C_1 is Bernoulli number and C_i 's are constants.

In view of Faulhaber's formula, since $t_k(m)$ is a polynomial in m of degree $k+1$, we notice that $\int_{m=-\alpha}^{\alpha} t_k(m) dm$ is integrable for all values of α , since $[-\alpha, \alpha]$ is bounded.

From (2), we get,

$$S_{k,\alpha}(n) = \int_{-\alpha}^{\alpha} (1^k + 2^k + \dots + m^k) dm \quad (6)$$

Substituting (5) in (6) we get

$$\begin{aligned} &= \int_{-\alpha}^{\alpha} \left(\frac{m^{k+1}}{k+1} + \frac{m^k}{2} + k \frac{m^{k-1}}{12} + C_{k-3}m^{k-3} + C_{k-5}m^{k-5} + \dots + C_1m \right) dm \\ &= \int_{-\alpha}^{\alpha} \left(\frac{m^k}{2} \right) dm \quad (\text{since } k \text{ is even and } \int_{-\alpha}^{\alpha} f(x) dx = 0 \text{ for odd functions } f) \\ &= \left[\frac{m^{k+1}}{2(k+1)} \right]_{-\alpha}^{\alpha} \\ &= 2 \cdot \frac{1}{2} \left[\frac{m^{k+1}}{k+1} \right]_0^{\alpha} \\ &= \frac{\alpha^{k+1}}{k+1} \end{aligned}$$

This completes the proof.

Verification of Result (4)

The above theorem can be verified for $k = 2, 4, 6, 8, 10$

$$\text{When } k = 2, t_2(m) = 1^2 + 2^2 + 3^2 + 4^2 + \dots + m^2 = \frac{2m^3 + 3m^2 + m}{6}$$

Substituting $k = 2$ in (5)

$$S_{2,\alpha}(n) = \int_{-\alpha}^{\alpha} t_2(m) dm = \int_{-\alpha}^{\alpha} \left(\frac{2m^3 + 3m^2 + m}{6} \right) dm = \frac{\alpha^3}{3}$$

$$\text{When } k = 4, t_4(m) = 1^4 + 2^4 + 3^4 + 4^4 + \dots + m^4 = \left(\frac{m^5}{5} + \frac{m^4}{2} + \frac{m^3}{3} - \frac{m}{30} \right) \quad \text{Substituting } k = 4 \text{ in (5)}$$

$$S_{4,\alpha}(n) = \int_{-\alpha}^{\alpha} t_4(m) dm = \int_{-\alpha}^{\alpha} \left(\frac{m^5}{5} + \frac{m^4}{2} + \frac{m^3}{3} - \frac{m}{30} \right) dm = \frac{\alpha^5}{5}$$

$$\text{When } k = 6, t_6(m) = 1^6 + 2^6 + 3^6 + 4^6 + \dots + m^6 = \frac{m^7}{7} + \frac{m^6}{2} + \frac{m^5}{2} - \frac{m^3}{6} + \frac{m}{42}$$

Substituting $k = 6$ in (5)

$$S_{6,\alpha}(n) = \int_{-\alpha}^{\alpha} t_6(m) dm = \int_{-\alpha}^{\alpha} \left(\frac{m^7}{7} + \frac{m^6}{2} + \frac{m^5}{2} - \frac{m^3}{6} + \frac{m}{42} \right) dm = \frac{\alpha^7}{7}$$

When $k = 8$,

$$t_8(m) = 1^8 + 2^8 + 3^8 + 4^8 \dots + m^8 = \frac{m^9}{9} + \frac{m^8}{2} + \frac{2m^7}{3} - \frac{7m^5}{15} + \frac{2m^3}{9} - \frac{1}{30}m$$

Substituting $k = 8$ in (5)

$$S_{8,\alpha}(n) = \int_{-\alpha}^{\alpha} t_8(m) dm = \int_{-\alpha}^{\alpha} \left(\frac{m^9}{9} + \frac{m^8}{2} + \frac{2m^7}{3} - \frac{7m^5}{15} + \frac{2m^3}{9} - \frac{1}{30}m \right) dm = \frac{\alpha^9}{9}$$

When $k = 10$,

$$t_{10}(m) = 1^{10} + 2^{10} + 3^{10} \dots + m^{10} = \frac{m^{11}}{11} + \frac{m^{10}}{2} + \frac{5m^9}{6} - m^7 + m^5 - \frac{1}{2}m^3 + \frac{5}{66}m$$

Substituting $k = 10$ in (5)

$$\begin{aligned} S_{10,\alpha}(n) &= \int_{-\alpha}^{\alpha} t_{10}(m) dm \\ &= \int_{-\alpha}^{\alpha} \left(\frac{m^{11}}{11} + \frac{m^{10}}{2} + \frac{5m^9}{6} - m^7 + m^5 - \frac{1}{2}m^3 + \frac{5}{66}m \right) dm = \frac{\alpha^{11}}{11} \end{aligned}$$

4. Theorem 2

(a) If k is odd, then

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{k,\alpha}(n)) = \frac{2}{(k+1)(k+2)} \quad (7)$$

(b) If k is even, then

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+1}} (S_{k,\alpha}(n)) = \frac{1}{k+1} \quad (8)$$

Proof:

(a) From the definition of $S_{k,\alpha}(n)$

$$\begin{aligned} S_{k,\alpha}(n) &= \int_{-\alpha}^{\alpha} t_k(m) dm \\ &= \int_{-\alpha}^{\alpha} \left(\frac{m^{k+1}}{k+1} + \frac{m^k}{2} + k \frac{m^{k-1}}{12} + C_{k-3}m^{k-3} + C_{k-5}m^{k-5} + \dots + C_1m \right) dm \\ &\quad (\text{since } \int_{-\alpha}^{\alpha} f(x) dx = 0 \text{ for odd functions } f) \\ \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{k,\alpha}(n)) &= \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} \int_{-\alpha}^{\alpha} \frac{m^{k+1}}{k+1} dm \\ &= \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} \frac{1}{k+1} \left(2 \frac{\alpha^{k+2}}{k+2} \right) \\ &= \frac{1}{(k+1)(k+2)} \end{aligned}$$

(b) If k is even, then $S_{k,\alpha}(n) = \frac{\alpha^{k+1}}{K+1}$ (from Theorem 1)

Therefore

$$\begin{aligned} \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+1}} (S_{k,\alpha}(n)) &= \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+1}} \left(\frac{\alpha^{k+1}}{K+1} \right) \\ &= \frac{1}{k+1} \end{aligned}$$

This completes the proof.

Verification of Result (7)

The result obtained in (7) can be verified for odd $k = 1, 3, 5, 7, 9$

When $k = 1$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{1,\alpha}(n)) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^3} \left(\frac{\alpha^3}{3} \right) = \frac{1}{3} = \frac{2}{2(1+2)}$$

When $k = 3$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{3,\alpha}(n)) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^5} \left(\frac{\alpha^5}{10} + \frac{\alpha^3}{6} \right) = \frac{1}{10} = \frac{2}{(3+1)(3+2)}$$

When $k = 5$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{5,\alpha}(n)) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^7} \left(\frac{1}{3} \left(\frac{\alpha^7}{7} + \frac{\alpha^5}{2} - \frac{\alpha^3}{6} \right) \right) = \frac{1}{21} = \frac{2}{(5+1)(5+2)}$$

When $k = 7$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{7,\alpha}(n)) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^9} \left(\frac{1}{3} \left(\frac{\alpha^9}{12} + \frac{\alpha^7}{4} - \frac{7\alpha^5}{20} + \frac{\alpha^3}{6} \right) \right) = \frac{1}{36} = \frac{2}{(7+1)(7+2)}$$

When $k = 9$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{k+2}} (S_{9,\alpha}(n)) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{11}} \left(\frac{\alpha^{11}}{55} + \frac{\alpha^9}{6} - \frac{\alpha^7}{5} + \frac{\alpha^5}{5} \right) = \frac{1}{55} = \frac{2}{(9+1)(9+2)}$$

Verification of Result (8)

The result obtained in (8) can be verified for $k = 2, 4, 6, 8, 10$

when $k = 2$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^3} (S_{2,\alpha}(n)) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^3} \left(\frac{\alpha^3}{3} \right) = \frac{1}{3}$$

when $k = 4$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^5} ((S_{4,\alpha}(n))) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^5} \left(\frac{\alpha^5}{5} \right) = \frac{1}{5}$$

when $k = 6$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^7} ((S_{6,\alpha}(n))) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^7} \left(\frac{\alpha^7}{7} \right) = \frac{1}{7}$$

when $k = 8$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^9} ((S_{8,\alpha}(n))) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^9} \left(\frac{\alpha^9}{9} \right) = \frac{1}{9}$$

when $k = 10$

$$\lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{11}} ((S_{10,\alpha}(n))) = \lim_{\alpha \rightarrow \infty} \frac{1}{\alpha^{11}} \left(\frac{\alpha^{11}}{11} \right) = \frac{1}{11}$$

Conclusion

In this paper, we have attempted to investigate methods of Summability theory by making a particular divergent series to convergent through a definite integral defined over a bounded interval. In doing so, we obtained three results as given in (4), (7) and (8). We notice that if the interval in (3) is unbounded, then $S_{k,\alpha}(n)$ is not summable. By considering suitable definite integrals and intervals, we can always generalize or create new results similar to those of obtained in this paper.

REFERENCES

- [1] R. Sivaraman, Summing Through Triangle, International Journal of Mechanical and Production Engineering Research and Development, 10(3), 2020, 3073 – 3080.
- [2] N. Calkin, H.S. Wilf, Recounting the Rationals, American Mathematical Monthly 107 (4) (2000) 360-363
- [3] R. Sivaraman, Triangle of Triangular Numbers, International Journal of Mathematics and Computer Research, Volume 9, Issue 10, October 2021, pp. 2390 – 2394.
- [4] R. Sivaraman, Recognizing Ramanujan's House Number Puzzle, German International Journal of Modern Science, 22, November 2021, pp. 25 – 27
- [5] R. Sivaraman, J. Suganthi, A. Dinesh Kumar, P.N. Vijayakumar, R. Sengothai, On Solving an Amusing Puzzle, Specialusis Ugdymas/Special Education, Vol 1, No. 43, 2022, 643 – 647.
- [6] A. Dinesh Kumar, R. Sivaraman, On Some Properties of Fabulous Fraction Tree, Mathematics and Statistics, Vol. 10, No. 3, (2022), pp. 477 – 485.
- [7] R. Sengothai, R. Sivaraman, Solving Diophantine Equations using Bronze Ratio, Journal of Algebraic Statistics, Volume 13, No. 3, 2022, 812 – 814.
- [8] P.N.Vijayakumar, R. Sivaraman, On Solving Euler's Quadratic Diophantine Equation, Journal of Algebraic Statistics, Volume 13, No. 3, 2022, 815 – 817.
- [9] R. Sivaraman, Generalized Lucas, Fibonacci Sequences and Matrices, Purakala, Volume 31, Issue 18, April 2020, pp. 509 – 515.
- [10] R. Sivaraman, J. Suganthi, P.N. Vijayakumar, R. Sengothai, Generalized Pascal's Triangle and its Properties, NeuroQuantology, Vol. 22, No. 5, 2022, 729 – 732.
- [11] A. Dinesh Kumar, R. Sivaraman, Asymptotic Behavior of Limiting Ratios of Generalized Recurrence Relations, Journal of Algebraic Statistics, Volume 13, No. 2, 2022, 11 – 19.
- [12] A. Dinesh Kumar, R. Sivaraman, Analysis of Limiting Ratios of Special Sequences, Mathematics and Statistics, Vol. 10, No. 4, (2022), pp. 825 – 832
- [13] Andreescu, T., D. Andrica, and I. Cucurezeanu, An introduction to Diophantine equations: A problem-based approach, Birkhäuser Verlag, New York, 2010.